Level 13 Test answers Year 4
a) Write in words: 6279 Term 1

six thousand, two hundred and seventy-nine Level 13
b) Write in figures: eight thousand, five hundred and two | Test

8502
c) Ten more than 759 = 769
d) One hundred more than 991 = 1001
e) Count backwards by twos from 524 to 400.

524, 520, 500, 498, 496, 494, 492, 400
f) Double 24 =48
g) Half of 400 = 200
h) 8+4=12

48 + 4 =52
480 +4 =484

i) Which odd number is between 378 and 380? 379
j) Add zeroes: 1485 =1000 + 400 + 80 + 5
k) 16 — (8 +2)=12
) 25—-5-5-5 isthe same as 25 -(3X5) = 10
m) 45 =40+5

_ +28 =20+8

=40+20 =5+8 =60+13=73
n) 57 (50 +7) (0)73  “x3 | withbridging
=36 —(30+6) 27 =2
20 +1 =210 &0

Times Tables (Tick if known.)
X2o0 X3o X4o X5o X10o

Score

/15




